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Keyword : crack,wood,The triangular resemblance,The triangular
combination,The trigonometric ratio
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Modern translation

Now, tree bamboo which is about to be broken.

How hights is that tree breaking from the tree of roots Ilwant to
know how much the height of the tree.

Then, 177" from the roots of tree to crack or, Some 1ivou 7shku
also end of crack.

Method is the same as knowing the depth of the pond, However, it
is intended broken half of the trees.

In addition, to the tree roots, If the roots hits 1" above, and look
like a right of way from on 1" to know later in addition 1"

In addition, from crack when the long end is to resemble as shown
in the figure is the crotch a place where trees are standing, and
string the place where it hit the ground at the end from crack, as
chord from the root of the tree, from the root of the tree where it
hits the end is spaced about fishing.

Well, even if the rope even if the bamboo from the root of the tree,
or until it and hit it around the triangle of the compass, some four

feet 8" .
A person in charge]lWASAWA,SAKUMA
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AC2+BC2-AB?
20.25+5.76=26.01

26.01=26.01
koT ZORIBIERY S,
« A ORI S
AABCE ACBD» 5, AB=x & LT,
1.0:1.8=1.8x
1.0x=3.24
x=3.24
—AB=3.24m
/ABD=/CBD - - - (I)
/ACB=ZCDB - - - (II)
(1) () 26 2MOANRFNENELVDOT,
ANABCo» ACBD
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AABC & ADBEZHBITH 5,

F o T, a:24=180:18
a=240+ + » (1)
B:29.4=180:18

B=294 -« + - (II)
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The mathematical contents

*Use of the Pythagorean theorem
A=Crack
C=Guraundo
D=Root of a tree

AC2+B(C2=AB?
20.25+5.76=26.01
26.01=26.01
Therefore,in this figure holds.

+ There are similar conditions triangle.

From AABC and ACBD,As AB=x
1.0:1.8=1.8'x
1.0x=3.24
x=3.24
—AB=3.24m
ZABD=ZCBD - - -+ (1)
ZACB=ZCDB- - - (II)

=

Rk, 5%

Since(1) and (2) two sets of corners equal respectively from

AABC» ACBD
Therefore, this proof holds.

(Dand it is written down to this book , it is the same value when
I know it with 9 string syaku 8uns Tt is written down like

@), it is the same value when I know it with 8vaku crotch.
Therefore, this assumption holds.
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Summary

and the similarity of the triangle.

math exactly.

Future tasks

BEXO&REIZ. ﬁ‘\‘-’ﬁ(itﬁﬁﬁﬁﬁw‘l(ﬁ?é’?]‘f’ﬁ)é&?ﬂéﬂ'ﬂ \BDT, EMXITHESDD At the end of the problem sentence, and because it is written as a how to solve that

sharp is also applied to the rope and bamboo blind, you want to do whether you can
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actually.

Impression

This problem seeks the broken of the tree by using triangle ratio, joint conditions of the triangle

Therefore, it said people who lived in Edo period was seeking the length of the object by using
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When we watched the original such as the code, we were afraid whether all the members could
come until the end. But the knowledge that we learned by a classic class, the internet search and the
mathematics tablet learned at the classical session as far as it was possible, the sentence which
wasn't understood could also be guessed, read and solved now.

Through this activity, solve the problem, in order to understand, and not only to the particular
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knowledge of a certain field, extensive knowledge has realized that sought. In the future, you want
to do not forget even if the humanities and sciences selection
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